MIAM DADE MIAMI-DADE COUNTY, FLORIDA
N METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Southern Metal Products, LLC
450 West McNab Road
Ft. Lauderdale, Florida 33309

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.038” (min.) Galvanized Steel Storm Panel Shutter

APPROVAL DOCUMENT: Drawing No. 03-269, titled “ 20 ga. Steel Storm Panel ”, sheets 1 through 7 of 7,
prepared by Knezevich & Associates, Inc., dated April 18, 2003, last revision #0 dated April 18, 2003 bearing the
Miami-Dade County Product Control Revision stamp with the Notice of Acceptance number and expiration date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews NOA # 00-0426.06 & consists of this page 1 & approval document mentioned above
The submitted documentation was reviewed by Helmy A. Makar, P.E.

i (/%)4 M\/ NOA No 03-0423.02

Expiration Date: 07/31/2008
07/ 16/ 03 Approval Date: 07/10/2003
Page 1




ﬁ r Y ER )
I~ ;m 2 ~
TANV I m_Z;<u;_MDE He Slia<as
[DNI’S3LVID0SSV ® HJ1AIZINY £00Z @ LHOMAMOD] ' . mmm o ¢ 37,0«
ANVORIMNH-008-1 >z ~ PR o
WO HOIAIZINI@YY THVIN-T « WOD'HDIATZINY MMM 7LISIM 6EEE 14 orpsopnet 2 RN mj< §.5 w oif |2 g% -
SOZE# YOO VARO » 6862-28€ (bS6) :Xv4 « 008Z-Z8€ (vS6) 3L | [PPUd ABNPINIS2M 05 N, 3 Mn}fﬂ AN
. . . . ey - ‘ ; Q : ol wl& [}
ZZEEE H 'TIVAIAN] 1404 + 081 3LINS “JAMA ALISYIAINN N 0921 VEd - DT1°SLONA0H TV.LIA NITHLAOS ) T TR v i Li3d mm v
- d P38
ODNILS2L 1ONAOYd ~ SHTINIONI ONILINSNOD - £ uopydjinsap Xal sivp foul o fiuZ)lG r
ONI 's3LVI20sSY ® HOIA3z3 Ny J| 1INV INHOLS 1331S "VD 0Z |§ ¢ ( TTITITeT a9 g
: %, o 3y
> L
: o ls 2 T 3 -
R . . w 2 W) > s m
1 n sl oo - wn A [} S =
: & &ld Qjn -6e] | e = Dm 5 S
E R e T A g8 5
L i s | W = z = Slsi 8
T | N o| @ =) S48 3 ]
: Y 2z = gl? Wilsz mE Sl =
& =3 P 13 g3 Zpg=zd
H ¥ " w = S 2 an .M
T < D20 28
- + : D EnET =~
LE90'L W m g nOu mi & E E £
T B @=- 4
LLOYL [V S} v Z22E88 ASE
- = <o S T8 € -
..«yvﬁ U o ]
mm A
o
=8 1
~N wo
zr =
Za b z
Wm e =R E
o ) R o o
m|xo ) « #EOL [ w (.
Zlix d E.0L70(] g =l Ol
. <l wn | ) i Tosrzo i o o 2 i:
n ajuay % wl, o et : &l
N (1 ADW. M dim r = : T E
Z|ena g : O] N 3 2
<LluwSn > o u s s b X <
 nfl iy’ - e 2|3 ~0ZL0 : wiju
s : n o ]
oo n A o j. o
L N ] LY m
w> > - A
z4dp0
_ [ W] ub
_ML 1 = —nm
<3 N L. :
ag L0l <
of ] 002 pEAD
W "
2° _._N._ .986'L
E
W < g
ON (AT
M n
ﬁ T Ak i X
Qo |u 5w .
= | : = Qs
W M W G “nv A = %N
2 A | £
= ; s e
<N :/% - n = m ,H&M z
= - z 1 I : L W
<« N A m - “ .M wow g
[ ] . » - < 5 oL
o Ll |- L |2 2 x5n b
4 wn = = by 5 SZw =)
MW = < a Bw3 C
Z U =) > o Z
mm 1 7] = o3 © o
a< W w o~ =
ox g F_A
x Z Yo
< o| wn 1A 9 N BM
= 8 & <o
c = Q |ow
2 = ; 4 . z 7 = _” o
3 3 v 0052 ola 4 — g
o L - Wwim =z £ w =
a : o £12. 8 4 > 1z3
3 : o |- e S E 12y
< = 0N 2|4 w 1 |Fo
L K ) Sia w 4 AR
H : F : Ol Z | T!lo L 0o
wn <
~ =4 o o “ 3 == e
y 3] 3 oald <. CRERl : = I E1
: R I w|m 5 Z T |z < ey
- I | o = |- & O jzul
H - W w = o — o<
Y 2 < < [ SV
a3 i I R o Ly y
o = v v I — 2 x Vo
. <
M —-— - WPW
- Y . (IVLNOZIHOH 50 TVIILH3A)
1 . (1) HLONIT 1INV "XV 04
Let 3AINAIAHIS 1INV WHOLS 335
HLON3 z,_wZ<n_ = NVdS 13NVvd
; W . <N < zTuw = e VOwZw
Ty W w=z VO w P < Xapwn [m] w OJdyy_y [m) i ]
EnZ  w= ZZoe O o puwd 5 T ZIrx =z 23 LW r =Y ® Z& 32%%2
I« N oz ! pu o CH_OA > = G-+3 < ug Fw = MA U o4 USKWB
<z Tu zZc < O «Lopy ;  OYor o zp 3@ 3 o z X o> Y
adz  Fu Wgw 3 5 o0 4 v oo z ot 2g o& ws LU Fogo
woa D sy m woyt = = = L o s B o a= 0O A 5Sn0
NZD WS wou W w MDU% 2 Z AWDO Lo WO ﬂL w o HT Zuj m. Ta<
Ty 9% B3z L OE SuEp » f ofPe gfle B oof  ESg 8Y 2=l
u . A z n 3EE T =2 L€ «f . = zw TR
¥  n3 = 3 = 3 g3k = - ) Wy N« -
ol zzo w wo 0 =N 0O o d R uw
Z45 N w2 w o HTRN_ :N._ m w. .2 o aa _._NL 0 WI wnu> Hm AWFSN
<_o W n T [a] —— s Qg ZFo3 o 85 w 0 o L g wd Zz70Z ¢
o oy, W D m apx v VuSo <9 Tz [ > FaB o Sun_ >
D TR oy 4o >z D 2 ,Z Zun ¥ Jo g 80 Lo S g« o 4,5>
FU> Ve woZz Y. L @gYE 9 g0 e we >, TF 3z 2« - oUY V< puzax
= nwog  Zzx U uzy O - OTpI ©Oz 1 & = oy o0 07 < uz<orw
wur Tun £2 — aYss >=-0Im T oo c < - . L z &
<@ Y, 2p2 WU wwrp @ ga wo - 0 BF OF a -~ Y. 3 i>0 ax <L
T 2 ozk =% JOIw 4 g0 x5 <Y T. 0o o —~° . TFZ gw  Jda=oT
e T o= =0 On v D.T.I_I < o AAL S > pd < U 2 > X w VT 0 _20-
aOw  ~ 3 Smmw Nw o MMWH > a2 PDMM ou TO wY <2 %m O onhr z3 EWSWM
iy o (@] <= W x> Q0O o O o - L < M
FuE 93 Qw«Y — ouT wns u, 0o ¢ . ¥ > o
Sex S8 33zp of & BFEE & wZ GEe? 85 2P 23 fEo f 3 45y, 5o . 2bEad
240 w4 ~uw = = Io < oZ W) 14 v <
o - = b o - w= <X N +— — 2 d < <z
ISw o Uym Z T Oow L z0O [ TR o N hot b L <= wo
Z — 0 < 4 mwn a = I ~ =) [T} T Ll
] << pd < W]} = I 2wz U Ly = D N2z — T_Wn
«<Bui o, &¥5- U2 T w<IF w FP ,ozo 2> 3§ o0 our < Zw . Z 3Zi MNm (=i
o528 B, @TRX Ev ©ogpFs § ze BEST 0P @I M8 SY8 5 e E Lyn 25% 0,3y
o0 L R ¢ L 3 [ITare T oT W w = O« W= £0F-Aw
Z=20 Hyo - 0oLST YWy 30 gl < wa O = < a0Q % - O g€ gz o
3 E=wn. Z= o G e Qn 0 o z v oS Z g
nuCo U< w3V LT > b wa w, ZO0°2 w8 6, . x=EQ v wy L2 »28 wl,uh
wzgZ g 2342 U- o 2ot O E P b od _mw e wh U5 o oZ% T ASEz
WUWL FA\MW_ ACMd xo W Wws mu < D_._N._SEN_ SADH oT WM MW - e R g WWW WWTWN._
nz5 < vz < > = £_3 —u a (GRS —w <
o oy zZ g @ >0 Y5z o = 18] 0 z o wI
n28m R :N..MAF 1= A.WRO m Wy FMO.MW s <, of mw MW oz g AWW Www EWWNS
m — = =L = 2 0 <
Sros @M 9%5° Zhob YoPr Gu o obepf FE 30 g 90 52«5 Do, - IzQ £ ud
chm T« NODR EM _.Nr_ Zzoulk oFE W_M_._ PDMWW < Az N_G M n- w4 ZZm SEM WCNRWM
Fra Ut «Uog Y w9 z Shoopw> wy _o y OT ws @ S
Sy00 Z ¥ "oz b I S e [T g THpr z2 =z < 0 a m o <
o027 <y $5U 27 35, 3YE. of o wiBes 2w B- 52 5 M2 o o E3D o0 orzi<
BUE™ wZX EzZ< 0% ga Ughw O35 FX Ewpbu T % oo S uxr <2 L <8< <4< Suryu
SU-¥ FWY G, OF 68 855f  ug 2T YSIZT U of U< Z an I L iyI g ZOTnZ .
w -y > oY M TZuUE o 22 0L TR T BT Z> S = 2V n L <y Owz>
o O T = 4 (m] aun od = = = ou. z
7 =) < w o,wz o Ug «< = <O [} vV mIwn T 2radod
<z, 2 az £ <L gw Z{BuwZ O < >ZT Tg Uz Yw oY wig = o Z
. TR > > ITZzw < w3l Iy I z = N 24V S0 T uZ g
@l >Z235 Logx ww>I >0 >> S TZ < g8 BrLw Sp o0 JdrTe O 2qu ¥ wI<E54Lg
W 008~ Taw Ik« OW ok pirra <« For Y Eu <P <Y Wy = JTH O Z=52320
E anYs FO% F35z 08 aq grpoly u> Gt wLZ wl Zu 20 z Zz2Y un «2- <o OOWN Y
O] g 2w —tu uno oy g = I jFo o RDU = oo wung = i «IZ 2 T _ Vv -0z Og .Z
I > w=0%92 f xr o zg = w Sw=220E =g w o = | @ >z - =N
S %02z 37 280r %u 95 80<Se of TY 3203% 23 t& GzS by 40 SRRVEE: Bui mwmﬂmm
< a0l agq =TS = = Oz o Z = oo o5 T« o == FowsyY
O owody Yeu ZHTE B WZ wSE8T To 5 swIra wh Do 203 OF Tpr W Gzv A< wiTSw
Y lwZz Zow PUSE D 0 8RS > i bz ozt 43 OuwniE 4 ZzZ5¢ arx “SuL00Z
& TI<5 oaT mrZ0o Io IO IT@wow ZT I35 ~ Io aZfwn JZ o= I <00 OYo +otouor
O FFEZN <+ OF3d4 HIL < FoIzZO <~ 3m < n 2EN OZK < <R < adiL Fow <a-anxo
. . ; : N m 4 s
R ~ m K wn ) ~ © o e - - = - =L

11:17

04/18/03

wolz:/LilL £00Z/8l/¥0 2zenbzopy mzﬁ._.olmmmtm.o/n_:ml_.w_/mwNIMO/_u._o;o._m_lz,q/m.ovnoO/DD{O/% :uonbuwiojuy jud



J:\CADD\Ccdd03\AII_Browcrd\03—259\R1—sub\O3—259——02.dwg AVazquez 04/18/2003 11:17:51am

Print Informatian:

! ' : e FASTENER, SEE ANCHOR

: FASTENER, SEE ANCHOR SCHED. : SCHEDULE. REFERENCE
EXISTING STRUCTURE ; . : EXISTING STRUCTURE REF. CONNECTION "TYPE 3" EXISTING STRUCTURE CONNECTION "TYPE 4"
CONCRETE, MASONRY DR CONCRETE, MASONRY OR CONCRETE, MASONRY OR T (ANGLE LEG MAY
WOOD. SEE ANCHOR 4 .c g WOOD. SEE ANCHOR WOOD. SEE ANCH P @ccm . {ANGLE LEG MA
SCHEDULE, TYP—) 1R /- FASTENER, SEE ANCHOR SCHED. SCHEDULE, TYP. oo SCHEDULE, TYP: R £ REVERSED) TYP. T0P
' REF. CONNECTION *TYPE 2 ‘\ 145/8 : ” . : BOT\_/FOM D .
' . n /] .
[l 2,4 a 7 : /L7 DR 3747 MAX. 4 ik e [l 4,4 4
| g U@ SEEESDTOBRM PANEL A7 /4" DR 3/4" MAX. | 7 gy o #14 TEK SCREW OR
N - : SCHED, BASED DN GAP 8 SFF STORNM PANE| ' 1/4*~20 MACHINE SCREW -
mS q- SEE STORM PANEL I J N g
T AT TOP OF PANEL “ea lea. SCHED. BASED ON GAP . 2 NUT @ 13" O.C. Yz R8sz
<, . : . | 172 =R RS
] z p T ] 2 N P AT TOP OF PANEL L 'y ZEIRg8|7
< I R N I . e < T N ro g w
g, | | i | D &N A E | AL
5 1 = = g (Va)
J S A R | . i e Il Ko 5 ||0glEadfs
b m o ~—— |~ OPTIONAL LEG ~|3 2188812
T = " f -5 ! 2 = L " omecrion l 2|3 <222 84
f 2o t —~iD w ol S g
SEE MIN, SEPARATION ! [ =0 SEE MIN. SEPARATION J IN 28 IN. SEPAR S ! Iz Uz lEea|®
FROM GLASS SCHEDULE : ' [ EZ FROM GLASS SCHEDULE— | T|¥¢ ) SEE MIN. SEPARATION ! oy SR ELE
T~ ! ! oi@ . | ' Flu FROM GLASS SCHEDULE ! @ zi O.|=R3|
A 1 T zl S © zv —— 5l walo 8
GLASS T Y ]l : i - Wl GLASS T " o|% el 82 SIS
OR DDOR | Z|< GLASS P e OR DOOR ;/ Yo 1< BE8|ul
! z OR DOOR i Wa | Jz B |2 %=
i I Lz I s | 1o o|lw2 |z
—_ m\ j g | ol | x| e zi2 %@~
C‘ Shme | = | <|e - CONT. ! <o T g;g m
N 4 { S0 N l v C1 A (e, ToP & | w YolE2¥)3
Il 2 2w , ' @ CONT . ] CONT. - W —1/4-20 MACHINE - Z | BOTTOM ! n SZ| 8 g~
als . | 4] BOLT & WINGNUT  |in | P = I e N
| | I @s-12"0C = | al ‘ I MElEng e
fap—— : T
| - L OPTIONAL LEG I oA : AL vz TF L 1/4-20 MACHINE BOLT & wel Z 2 g9
4 T ' £ i E— | <= T WINGNUT @ 6-1/2" D.C. zZlg &bz
} a 4 e , . '-]l-:' I a T (TYP. TOP & BOTTOM) ¥o|8F =g
EXISTING | : . g EXISTING ¥ jEaflEa) 4, | N 4 CE———
: FASTENER, SEE ANCHOR L , #14 TEK SCREW OR T 3E
STRUCTURE M SCHEDULE. REFERENCE : 1/4-20 MACHINE BOLT & STRUCTURE . / EDGE DIST: R S | R 9 1/4"-70 MACHINE SCREW o 555
4n 4 CONNECTION "TYPE 1" WINGNUT '@ 6-1/2" 0.C. J‘Z AT 4 & NUT @ 13" O.C. > < .:E]E,
. S A [} z% ]
’ FASTENER, SEE ANCHOR Cr
FASTENER, SEE ANCHOR SESEDULE REE‘ERENEE E . ZER -
SCHEDULE: REFERENCE CONNECTION *TYPE 4* St
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL _ CONNECTiON *TYPE 5* , , S| Big N
- | | E o 2
v . Al 21 =
@ WALL MOUNT SECTION G CEILING/INSIDE MOUNT SECTION @ BUILD-OUT MOUNT SECTION E e <Z:
. c
SCALE : 3" = 120" SCALE : 3" = ¥-0" SCALE : 3" = 1'-0" : , ~ | & =Y )
. = =
ikl © ~
EXISTING STRUCTURE , =y -
#+5/8"  CONCRETE, MASUONRY DR EXISTING STRUCTURE FASTENER, SEE ANCHOR E = £
MAX. WOOD. SEE ANCHOR COONOC;ESTEEE. MASONRY DR SCHEDULE. REFERENCE z m -
- SCHEDULE, TYP. wooD. ANC 5 /g" CONNECTION "TYPE 1* : 5 N
EXISTING STRUCTURE FASTENER - USE RAWL CALK-IN SCHEDULE, TYP: A Y < w
OR WOOD BUSHING FASTENER : ; G
CONCRETE, MASONRY OR " . .. FASTENER, SEE ANCHOR T U 3 2 N
WOOD. SEE ANCHOR AT 6-1/2" O.C. OR 13" 0.C. SEE ANCHOR , SCHEDULE MErERENLZ AR v AT GROOVE 3
SCHEDULE, TYP. 55 SCHEDULE, CONNECTION "TYPE 1* FOR ANCHOR . CONNECTION vrvpE oo Il 2,4 a : 528" AT GR 8
: MAX SPECS & MAX. SPACING. DO NDT USE WHERE .
[N — SCHEDULED SPACING IS LESS THAN 6-1/2" ] , | i
<« |7 USE 1/4-20 S.5. TRUSS HEAD BOLTS W/ g] | | | == T
l 4 ' KEYHOLE WASHER. TYP TOP &/0R BOTTOM. J? f | o~ P !
e 4 a . | | w h !
i | | i
I N - T i} | ] 5 2 4 o | —
SN | 28 | =] | g
. h Lo L7 1 ll : }]—: E ! _|=
[Pe Bl Lf | GLASS | j g\ — ™ ! Z18
o2 ! ~ OR DODR | : i &2 ! Iz
| & § ] @ Wi | o]
l . | | | 4 > Olwn
b 4 : =12 L % . —— Ik _ z|"
I | AR Z|o SEE MIN. SEPARATION U — o WD
L.r:‘t_)—,i ] ¥ FROM GLASS SCHEDULE j | 2l SEE MIN. SEPARATION @ e
SEE MIN. SEPARATION | Eb ~__ ! | N “FROM GLASS SCHEDULE o MNrE
; u g
FROM GLASS SCHEDULE ~__ ! 2 | CONT. | %[O GLASS z|2 5
| @ = ! ! gj» OR DOOR ' o el
GLASS ' T v 2% ’ {TYpP, TOP l Thw K <|8 HE
- —— | | | | L N | 2l
OR DOOR ! 2l | & BOTTOM y 2 C‘ ‘ | g ol |22
| Gz ] | < 4 - } w e |v[>
oo | | d I w 05
i |o ~~ un o sz
| X | ] I 4 P ! =l ™18
G l 3 ! ' ! oI
l L X ____,' r___._..uj | | o &
[ : = Faiiny —\_ 1/4-20 MACHINE BOLT & | g } SIRE
STRUCTURE . -] - 4 o
| ! | ‘ OPTIONAL LEG WINGNUT @ 6-1/2" O.C. | om0 o[
T RE ] {TYP, TOP & BOTTOM) ) 2ls
| ! PRODUCT REVISED L /,/ - 1 . 0 WINGNUT @ 6172 0. bt
as complying with the Florida EXISTING {TYP, TOP & BOTTOM) oo
| Aoeding Code 7 STRHCTORE » o o] FASTENER, SEE ANCHOR (Gar
. are
EXISTING | Acceptance No.03 - 04-C5 0L SCHEDULE. REFERENCE 04/18/2003)
STRUCTURE ? E"P‘““"" Date 0 ' ' CONNECTION "TYPE 1" scale {drawn by ]
a N AS NDTED AY
U By ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL [design by )L:hecked b)?
Mmmil)ade : o =
Division i . - drawing no.
@ DIRECT MOUNT SECTION @ WALL MOUNT SECTION @ WALL MOUNT SECTION 03-269
SCALE. 3" = 1-0" SCALE : 3" = 1-0" SCALE : 3" = 1'-0" (Sheef 2 of 7

04/18/03 11:17



J: \CADD\Cadd03\All_Broward\03-269\R1-sub\03-269-03.dwg AVazquez 04/18/2003 11:18:20am

Print Information:

g

THREE 1/4"® WOOD LAG

SCREWS W/ 2-1/4" MIN. WBOD RODF TRUSS EXISTING STRUCTURE
2 : FASTENER, SEE ANCHOR
EMBED. @ 247 0.C. MAX. OR FRAMING MEMBER ’ ' CONCRETE, MASONRY OR SCHEDULE REFERENCE CONNECTION
To PANEL FacE AR /00D. SEE ANCHOR "TYPE 4. ANCHOR IN CENTER OF
» SCHEDULE. TYP. WOOD FRAMING MEMBER T
| A 7 77 , : , ;E REx|z
N\ #14 TEK SCREW OR , ' ' gl B g w
| | 7K CONT. 1/4"-20 MACHINE BOLT ' Y EIE
Eé STUCCO FINISH OR Y N & NUT @ 13" O.C. ' Rl ;(i O@li<
N —
WE PLYWOOD SOFFIT 1/,~ 0R'3/4" MAX. /4" OR 3/4" MAX. w5l g & 210
SEE STORM PANEL | ) SEE STORM PANEL 218889
: SCHED. BASED ON GAP » = = SCHED. BASED ON GAP <2/22g|n
/ , L]z AT TOP OF PANEL : | : ! 2 AT TOP OF PANEL , =ClZ o]«
5* x 974" CONT. ALUM. .} | 2 B i @ 3la YelS 8 <=
, PLATE. EXTEND PLATE ® |2 | . | Tle O,|TRZ|
| TO NEXT TRUSS IF o3 =] e ! Elz ool s e|T
| HEADER ENDS MORE S|z ' v | ol ve| B8R 2
| LhsT TRUSS, 0 [ GLASS | A <uippBiam
. = = o UilN
} ' bz OR DOOR SEE MIN. SEPARATION [ @ iy EEEESE
) SEE MIN. SEPARATION i #14 SMS BETWEEN Zig FROM GLASS SCHEDULE | zZ|0 R
(FROM GLASS SCHEDULE i TRUSSES @ 12" D.C. o ! NES Tu|&8 8 m
| 2l s | | g U 8¢&|o
| Lo | ZeEg83]o
Z|p X z g ~
| < | <iwn >z o~
| — ol b -ls® ©
i ! r whlig oz
Y o— X | w | 7] NS | ST EIE
<ln ~ J : - wwilzaga o
£ zZl g S B8
COlRE N IE
(MAX DESIGN LOAD = 62 PSF) vl- o
, —
|32
, o, =8
: : 2|5 525
® SOFFIT CONNECTION DETAIL BUILD-OUT SECTION < g Egﬁ 2
[ -
- g7 Z
" Y T S
\ SCALE : 3" = 1-0 : SCALE : 3" = -0 s EE_@ N
: ; |2 g2
. O |t BRI
N | <
SEE MIN. SEPARATION — TR <] <
w - -
FROM GLASS SCHEDUL RE — & B S
VT . — 2D H =l O =
w L
GLASS | | ¥ = |2 1 ~
OR DOOR——” | GLASS SEE MIN. SEPARATION | oY (7, m )
! iD OR DOOR FROM GLASS SCHEDULE i z|" . % el
“ | X | 2lg < | £ BER Jum
~ .
' @ 0 1/4,-20 MACHINE BOLT & }__ @ R W lE -
T T— ! - WINGNUT @ 6-1/2" D.C. i z|o ol
e - | = T ]
| I |
| — .| O
N o | | e e e )
IMAX. o z @ CONT : s lw
| | 5 - 5
| o | . | ]
W 1
I | z | = -
i g
| . 1/4-20 MACHINE - 0
| | BOLT & WINGNUT % | .
| ®e-172"0C. <«
, { z | #14 TEK SCREW DR , ;
| | A 1/4"-20 MACHINE BOLT . ~
, , & NUT @ 13" O.C. :
[ : N CE———
| @ CONT. | @CONT M1e
EXISTING WOOD : 2
FRAMIN (LEG OPTIONAL) | FASTENER, SEE ANCHOR =g
FASTENER, SEE ANCHOR E SCHEOULE. REFERENCE 2z
SCHEDULE. REFERENCE | : CONNECTION "TYPE 4* o IR
CONNECTION *TYPE 1" ] e |¥>
. wil
PL 2" x 6" P.T. ' —L—hw — ERHE
ST WOOD CONT. : 5/8" w | |2
. : MAX. HRE
2 - /418 x 41727 S S, o K2
LAG SCREW @ 24" O.C. MAX. - 38
W/ 1-3/4" PENETRATION : PRODUCT REVISED =
IN CENTER OF STUDS ‘ ascomplymgmlhlheﬂoﬂda N
“i8
Buiding Code 73 3
[=]
(MAX DESIGN LOAD = 72 PSF)_ ‘é“’ep“’.“;eg; 0 oL HE
X[Hrat 4,
P o . €. BT date
: , 04L/18/2003
ALT. WALL MOUNT SECTION BUILD-OUT SECTION By scals drawn by
Miami Dad AS NDTED AV
Division ign b ) hecked by
SCALE:3"= 1- 0" . SCALE : 3" = 1'-0" . v ) [es gnoL); {: ecke d by ]
’ l drawing no. }
sheet 3 of 7

04/18/03 11:18



J: \CADD\Cadd03\All_Broward\03—269\R1—sub\03~269-04.dwg AVazquez 04/18/2003 11:19:17am

Print Information:

TABLE 1 STORM PANEL SCHEDULE TABLE 2 MIN. SEPARATION FROM GLASS SCHEDULE NOTES: m
ANY MOUNTING ANY MOUNTING MINIMUM SEPARATION | MINIMUM SEPARATION ‘ .
POSITIVE| AcTUAL SHUTTER FOR INSTALLATIONS | FOR INSTALLATIONS 1. - ENTER TABLE 1 WITH THE OPENING'S POSITIVE AND NEGATIVE
MOUNTINGS USING CONDITIONS CONDITIONS DESIGN SPAN (L) 30° OR LESS GREATER THAN 30' DESIGN LOADS TO DETERMINE MAX. PANEL LENGTH.
DESIGN LoAD | " 'ECE ® (9 or (MAX. 1/4" SPACE (MAX. 3/4" SPACE LOAD(W) (FT - IN) ABOVE GRADE ABOVE GRADE - FOR COLUMN (B) REFERENCE THE ALLOWABLE SPANS AT ‘
, {PSF) {(INCHES) {INCHES) BOTH THE POSITIVE AND NEGATIVE LOADS, AND CHOOSE
W TOP & BOTTOM BiL\'éE:;AZ’EgL BiTN\’éEﬁgAPD’ngL — - — THE SMALLER DF THE OBTAINED VALUES. EEPE
- - - = =z
{PSF) 40.0 e 27378 YA - FOR COLUMNS(®) & (©) REFERENCE THE ALLOWABLE SPANS =l S gl=
@ L max. L max. @ L max. : - — BASED ON THE HIGHER OF THE POSITIVE AND NEGATIVE LOADS. || =il o % 2 I
: 11-5 2-7/8 - w8
(FT-IN) (FT-IN) (FT-IN) % 2378 YA 2, REFERENCE APPROPRIATE COLUMN IN STORM PANEL SCHEDULE wo |29 & <
POS. LOAD|NEG. LOAD|POS. LOAD NEG. LOAD|POS. LOAD NEG. LOAD 5o 58 2_3/8 S BASED ON MOUNTING CONDITION N FIELD. w238 g O
45, - - - . w2 o)
40.0 1-5 1-5 11-5 8-8 377 778 - COLUMN (A MAY BE USED ONLY WHERE STUD ANGLE IS :.2 58 g s
=0 ra— PP P —_— n-5 -7/8 - USED TOP AND BOTTOM. Zol3TE|Y
45, = ~ N o0 =
=00 v PR P P > -0 2-3/8 =1/ - COLUMN (B) MAY BE USED FOR ANY DETAILED CONDITIONS, VEEgIe
: 50.0 8-8 - 2-3/8 1-7/8 INCLUDING DIRECT MOUNT. IF HEADER IS USED, MAX: GAP C.1vANZlx
55.0 10 - 6 10 - 10 10 -6 B -8B m-4 3 3 EQUALS 174", : :: o] . v
: ' 222 slE
60.0 10 - 1 10 - & 0-1 g8-8 5-0 2-3/8 1-1/4 - COLUMN (©) MAY BE USED FOR ANY DETAILED CONDITIONS, <ujpap|e
62.0 9 -1 10 -2 9 -1 g8-8 60.0 B -8 2-3/8 1-7/8 IF HEADERIS USED, MAX, GAP EQUALS 3/4". =z g zw
: ) vliw (2
65.0 5-8 o-M -8 8-8 10 -8 2-17/8 2-17/8 3. "ENTER TABLE 2 WITH POSITIVE DESIGN LOAD TO DETERMINE =z s~
70.0 S -4 5 -7 9 -4 8-6 5-0 2-3/8 1-1/4, MIN. SEPARATION FROM GLASS. UL -8 g3
—VIE®Jio
72.0 2-2 °-5 -2 8-4 70.0 8-8 2-3/8 2 4. FOR DESIGN LOADS BETWEEN TABULATED VALUES, USE S=zlgx § N
75.0 5 -0 9 -3 5 -0 8-0 9 - 11 2-7/8 2-5/8 NEXT HIGHER LOAD OR LINEAR INTERPOLATION MAY BE USED Ll 82z le
. e =5 TO DETERMINE ALLOWABLE PANEL LENGTH. NS ST L
80.0 8-9 8- 1 8-9 7-6 5-0 - - wn| 85[0
SE|eg
90.0 7 - 10 8- 3 7 - 10 6-8 80.0 B-8 2-3/8 2-1/8 z3 8E |8
v _ Z Z Mol N
100.0 7 -1 7-5 7 -1 6 -0 g8 -N 2;;2 f;;g ° ik
~ = = e
110.0 6-5 6-9 6-5 5-5 90.0 > -0 1 T,
120.0 5 - 11 6~ 2 5 -1 5-0 8 -3 2-3/8 2178 w 2875
’ = - - - 100.0 5-0 2-3/8 7-3/6 2|2 5=8
130.0 5-5 5-8 5-5 4 -7 . e 5378 78 < |5 258 1
14.0.0 5-0 5-3 5-0 4 -3 — =573 ol 3IE 2
110.0 5-0 il - s | g3 %
150.0 L -8 L -1 L -8 L-0 P 2-3/8 1-3/4 = 3 837 =
s
160.0 4 -5 4 -7 4 -5 3-9 120.0 5 .0 2-3/8 1-3/8 o g [a) 2]
170.0 L~ 2 [N [ 3-6 ) 6 - 2 2-3/8 1-5/8 e 2 xl Z
180.0 3 -1 L -1 3 - 1M 3-4 5= 0 7-3/8 =578 B <] <
130.0 R =] O
190.0 3-8 3-1 3-8 3 -1 5 -8 2-3/8 1-1/2 TRy = =
200.0 3-7 3-9 3-7 3-0 150.0 L~ N 2-3/8 1-378 E E xl ~
210.0 3.4 3-6 3.4 2 - 10 170.0 (R 2-3/8 1-3/8 Wiz na]
190.0 3- 1 2-3/8 -1/ < |E 2 m
210.0 3-6 2-3/8 1-1/4 W5 -
o
N
ALUM. ANGLE CLOSURE PIECE:
TWO 1/4-20 BOLTS 1".x 2" x 125" MIN. TO
& NUTS @ 24° D.C. 14" MAX 2" x 5" x 125" MAX, V.J. KNEZEVICH
: GAP L 11727 PROFESSIONAL ENGINEER
w \— }T VI , FL License No?P¥ 0010983
: o o] ® o
MAX. 174" GAP{L i 1/2" OVERLAP-
OVERLAP FASTENERS FASTENER @ 12" 0.C. FOR DESIGN
TYP. ISEE NOTE No. 7) EXISTING EXISTING LDADS LESS THAN OR EQUAL TO 140 P.S.F. y
STRUCTURE STRUCTURE & @ 6" D.C. FOR DESIGN LOADS GREATER PYES S
THAN 140 P.S.F. (SEE ANCHDR SCHEDULE FDR ’ A 4 4 2003
ANY ACCEPTABLE ANCHOR) L i
2" x 5"'x 125" ALUM. N
ANGLE CLOSURE PIECE: EXISTING (o
STRUCTURE &
j——— FASTENER @ 12" 0.C. FOR DESIGN »
LDADS LESS THAN DR EQUAL TO 140 P.S.F. . e o
& ® 6" D.C. FOR DESIGN LDADS GREATER FASTENER @ 12" 0.C. FOR DESIGN ofg
THAN 140 P.S.F. (SEE ANCHOR SCHEDULE FOR LDADS LESS THAN DR EQUAL TO 140 P.S.F. slo
ANY ACCEPTABLE ANCHOR) & @ 6" 0.C. FOR DESIGN LDOADS GREATER LES
THAN 140 P.S.F, {SEE ANCHOR SCHEDULE FDR ot 50
EXISTING ANY ACCEPTABLE ANCHOR) Eas
STRUCTURE o 128
EXISTING il 3
BAY WINDOW 2 12
> [
@ @ . o ,,E
EXISTING DVERLAP FASTENERS FRODUCT REVISED TIER
o BAY WINDOW TYP. (SEE NOTE No. 7 1/4-20 $.5. BOLT & a3 complying with the Florida LN
: WINGNUT @ 24" O.C. Buiding Code <[5
(TYP} Acteptance No 03— 0 .0l 12
ALUM. ANGLE CLOSURE PIECE: 20 GAGE STEEL Expisation Date 0 o8 L (=
1/4-20'5.5. BOLT & 1 x 2" x .055" MIN. TD BENT PLATE ; date }
WINGNUT @ 24" O.C. EXISTING 2" x 5" x .055" MAX, By [ 0471872003
(TYP) STRUCTURE Miami Dad scale drawh by
® + OVERLAP .’a_“_“Da AS NOTED AV
20 GAGE STEEL . Division design by |{checked by
BENT PLATE 1" OVERLAP oLB VK
CLOSURE DETAILS (PLAN V'EWS) ) drawing no.
SCALE: 1-1/2" = 1-0" 03'269
[sheet & of 7]

04/18/03 11:19



J: \CADD\Cadd03\All_Broward\03-269\R1-sub\03-269-05.dwg AVazquez 04/18/2003 11:19: 43am

Print Information:

g

ANCHOR SCHEDULE ' ANCHOR NOTES:_
FASTENER SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS/PANEL LENGTHS ’ 1. PANEL LENGTHS & LOADS SHOWN HERE ARE FOR ANCHOR SPACING
2 EDGE DISTANCE 3" EDGE DISTANCE ONLY. ALLOWABLE PANEL LENGTHS FOR SPECIFIC LOADS
w DESIGN MUST BE LIMITED TO THOSE SHOWN IN TABLE 1, SHEET 4.
g LOAD | SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO . — U% Nm o
z2 W) 6'-0" ; 8'-8" 1MoL 6'-0" 8'-8" PRt 2. ENTER TABLE BASED ON THE EXISTING STRUCTURE zlR8siz
Eu ANCHOR TYPE pop | (SEENOTE1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE. 1) MATERIAL, ANCHOR TYPE AND EDGE DISTANCE. E: REBIS
- -t - I
%z : MAX CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION . CONNECTION 3. CHOOSE DESIGN LOAD GREATER THAN.OR EQUAL TO NI Re- S =
W (SEE. TYPE TYPE TYPE TYPE TYPE TYPE NEGATIVE DESIGN LOAD ON BUILDING AND CHOOSE SPAN w129 &<
“ NOTE 1) » : , GREATER THAN OR EQUAL TO SHUTTER SPAN. My gozg o
’ o]
11213 (415[112 4 112 tlsyrjz|3je|si1j2y3)415]1]12}131415 4. REFERENCE SPACING FROM APPROPRIATE CONNECTION TYPE. <o % & g) o
56 [13]13{13[13[13|13[10{10] 9 ]10{13|5 7 13113 [13{13[13 (13|11 )12 110|12]|13]|65/ 9] 7 ]9 SEE CONNECTION DETAILS FOR IDENTIFICATION OF CONNECTION Gg Eoul
. ; o © < |isg
w 1 62 {13}13(13|12]|13|13| 8 8 13576 7]13113]13{13(13[13] 9 |n 10(13|5{8]7]8 TYPE. o.|Bz= i
5 S:mmmmm 5. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES YR
& 72 1313|1110 11]13] 6 7 13| 4 {65]6 (651313 (13|11 [13[13]65| 9| 719|134 7]es]7 WALL FINISH OR STUCCO. g, 8R |2
Q 1/4"® ITW TAPCON W/ ‘ eg
Z | 1/374" miN. emsEDmENT| 105 [13] 6 | B | 7| 713|465 6 (6513 |4 |65/ 6|65[13]65[9 | 7|9 |13]|4 7657|1347 ][65]7 6. WHERE LAG SCREWS FASTEN TO NARROW FACE OF <; 532 i
> w
° 210 {13 |4 |65/ 6465{13 |4 |65/ 6 [65/13] 4 |65 6 |65[13)a |7 (65| 7113)4s]|7 6571347657 STUD FRAMING, FASTENER SHALL BE LOCATED IN Do PEUS
7 Vid g ELC
a 56 [13(13 |12 (13|12 (13|10 9 1356576131131 13113(13]13}13 13|11 ]13|13|7 [10]8 [0 CENTER OF NOMINAL 2" x 4" (MIN) WOOD STUD. TZ| &« Nilm
g WOOD SHALL BE "SOUTHERN PINE” G = 0.55 OR BETTER U,l=8¢|°
S . b 62 |13{13§11|1z|w0|13|8| 7|8 |7 |13]4|5]6]|5)13[13]13]13|13}13{10|12|10]12]13]|6 |9 7}|9 DENSITY =9 E&z|S
™ . =z N
2 12" RAWL CALKAIN 72 {31319 |10|9|13|6 |65 7]es|13|s|5te s 13|13]13(12{13]|13]|7{10]8]0[13]5]8]7]s i._ gﬁ% °
Z - 7. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WiTH JZ2g s
W/ 7/8" EMBEDMENT Noi S x
2 a1l Do sbEwalk oLt 105 (135 |65 76513 4 |5 |65 13|45 6|5]|13/7]10/8|10(13]/5]8 8j13/518|7)8 WITH MANUFACTURERS RECOMMENDATIONS W/ MIN. wo|2 88 &
(3/4"® HEAD) 210 [13|4|5]6|5i13|4|5|6|5|13|e|5|6|5]315]8|7{ei13{s]|e|7]s8|13|s5]8]7]s EMBEDMENT INDICATED ABOVE. zZ|3 HEE
¥y
*“‘m“abm 56 (1313 8|6 7|183]|5|5]|&[5]10 43| 4413|13]9165|9 |13[5|6|4]6]10 413 1%] 8:1/4-20 TRUSS HEAD BOLTS MAY BE USED IN LIEU OF 1/4-20 P
62 [13|12|7|5|7412|3|5|4]|5]9 3|3|3|13|12|{8 )5 (8 f12{4]5]4is]|s L34 SIDEWALK BOLTS. ~ ) §§2 v
Z3
* 72 {13165| 6|4 |8 |10 ti{3l4ls 3 31377 |s5|7]w0]3]|5{3]|4]s8s L34 9. DES,GNATES ANCHOR CONDITIONS "Z" 3 258
1/4"@® ELCO MALE/FEMAL! 3 Z [
"PANELMATE” W/ 1-1/4"| 105 |10 t|3]sls 3 3|8 3 3]10 5|3(4]|8 t3|4l8 413 /AWHICH ARE NOT ACCEPTABLE USES. < ||@ §§5 =
MACHINE SCREW/NOT 210 8 3 3|8 3 38 3 3ls 413 |4ls L |3 |48 4|34 PRODUCT REVISED A U Egg i
: 10. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK, as complying with the Florida > 3 23 ¢
~ - OR WOOD FRAMING. REFERENCE ANCHOR SCHEDULE FOR Buiding Code e |7 2
PROPER ANCHOR TYPE BASED ON TYPE OF EXISTING Acceptance No03-04.23.02|| O |5 B2 =
; STRUCTURE. , Expiration Date O e[ i:‘ ;<ZC
ANCHOR SCHEDULE : By I =l O
QUIRED F IRECT MOUN 6.5" " . Wz —
FASTENER SPACING {INCHES) REQUIRED‘FOR VARIOUS DESIGN LOADS AND SPANS/PANEL LENGTHS * gIEDALCJINEDONEB,DSlEE\UNgg NE'@TOSEXOCREE‘IB VALUE M);a II:H ﬁ S 1
. : SPECIFIED IN ANCHOR SCHEDULE. Division = ~
. DESIGN 3/4" EDGE DISTANCE N E m| S
U LOAD | SPANS UP TO SPANS UP TO SPANS UP TO < 2 m
z2 (W) 6'-0" : g-g" M-8 =y <
Ly ANCHOR TYPE pep | (SEENOTE1) (SEE NOTE 1) (SEE NOTE 1) O 2 _
Z22 . E
X & MAX. CONNECTION CONNECTION CONNECTION ANCHOR SCHEDULE 2 2
we (SEE TYPE TYPE TYPE . FASTENER SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS/PANEL LENGTHS
NOTE 1) : . '
1 2" EDGE DISTANGE 3" EDGE DISTANCE V.J. KNEZEVICH
11235 1]2 nd 11231415 w DESIGN PROFESSIONAL ENGINEER
1-3/L" MIN, s6 [13}13(10(13|10]13 |10 7|97 (135|565 5 s LOAD SPAr;s éJP TO SPAg'S BU”P TO SPAﬁ's BP To SPAr;IS (l)JP TO SPAngBUP TO SPANS UP TO i
_ z> o > e bt o o
! 62 |13|13|9|11|9|13|8]65/ 8 (6513|4]5]6]5 55, ANCHOR TYPE ;‘;"’: (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1)
H_—WW@ WOOD LAG W/ 72 [13|13]{el10fls[13]s|s|[7]{sl3|elels]|a X MAX. CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION
1-3/4" MIN, THREAD W (SEE TYPE TYPE TYPE TYPE TYPE v TYPE
EMBEDMENT 05 13515 | 715|134 |45 |4i13[s]|als]u il ) : _
SHEAR PARALLEL NOTE 1)
TO WOOD GRAIN 210 Bl 4|4 514134 b|5Ly134i4]5 |4 112 i3 (4{5]1]2]3 51112131415 ]1 L 1 3 S 2131415
1-3/4" MIN. S6 {13{13|8 (13|88 (13105 |95 |13|5]4(65|4 se 131365\ 465|934 3]sl 3 3131137414710 5 5|7 4 3
o Hm 62 [13[13]|7|1|7|13|8ls|s|5|13]alse]|6]|4 X E:Nmmmm 62 |12 64|58 4 Lie 3 3 {13 6.5 4 |6.5 3|4 4|7 3 3 A
) Q - ) =
2 174" @ WOOD LAG W/ 72 j13|13]65{10|65[13{5 |4 |7 4134|353 = e 1T TARCEn s 72 |10 53|57 3 316 3 1M|{5(5{3]51!7 L L |6.5 3 3 P
e MEeEAD 105 [13|s|al7|e|3la]l3]ls]3]13]s]3]s]3 WS MR, EMBEDMENT| 105 | 7 3 36 3 6 3 g 4 3 (65 373 ]es 3 3 zle
SHEAR PERPENDICULAR w - wl =3
TO WOOD GRAIN 210 |13} 4 | 3|5 B4 ] 3(513113|]4 13|53 g 210 6 3 6 3 6 3 6.5 3 3 |6.5 3 3 165 3 3 SR
[- IR
56 (13137 |s5{7|w0|3|s5|[3(5]7 4 4 Z s6 |13{13|7 {565 11| 4 |4|3]|4]8 3 3 1131310 |6.5/10 |13 716l 7|1M3]s 3]s - 13
[&] el >
*ém 62 (13|97 |ales|o|3fel|3|s]7 3 3 pe *M 62 |13]|10|6 |5 |6]|10]|3{a4 L8 3 3[13113| 969 (13|4 (654610 5132 S|
2 ‘ MR
72 1M{s|e|{3]|s|s 4 4 l6.5 3 3 g e RAWL CALKAIN 72 1316 |s5|als|o 313|31(7 3 3|13{7{8is5|7|1M{3]s|3]|5]% 4134 ~ |32
BRASS WODD BUSHING 3 W/ 7/8" EMBEDMENT 1
BRASS WODD BUSHI 105 | 8 4 4 |65 3 3 6.5 3 £ |, w/1/8 EMBEDMENT | 105 |8 313(3(7 3 307 3 3113|5135 |59 L{34]o L3 |a s
210 |6.5 3 3 6.5 3 3 6.5 3 3 (3/47@ HEAD) 210 7 3 317 3 37 3 39 403 |40 Li3)al9 L3 |4 hE
-]
*mmﬁmm s6 - |13(13|13[13[13[13[13]13]13[13/13| 8 |10]10 10 *mﬁhm s6 - |13|13]8 6|7 13 5 5|10 L 41313 9 {65/ 9 {13 6|46 |0 L34 SlER
dat
62 [13113[13[13|13[13{12|M|1z2|11|13] 7|99 s 62 |13}1217 5|7 |12]/3]>5 519 3 3{13{12)/8 5|8 [12 s|a|sts L{3is {“ OA/‘IB/ZOOB]
o 72 |13{13[13[13{13]13|8 |1w0]1w0|w0|13]c|8 ]88 * 72 |13]65]6 |4 |6110 ti3]|els 3 sfuiz[7]s17 w0 ERE t13]a ‘;;‘inTEDFW—"",{:]
1/&"® ELCD MALE/FEMALE] =
174"® ELCO MALE/FEMALEl 105 . 113 | 8 [10|10|10|13| 6|8 |8 !B |13|6 |8 |8 |8 “PANELMATE” W/ 1-1/4| 105 |10 413 |4|s8 3 38 3 3110 513148 L{3|als |34
PANELMATE” W/ 1-7/8 MIN. EMBED. & 1/4-20 - oLe viK
MIN. EMBEDMENT 210 |13|6)8i8B|8B|13|6|B|8!8|13|6|B|8B|8 MACHINE SCREW/NUT 210 | 8 3 3|83 3|8 3 3|8 41314 l8 413|418 L34 drawing no,
sheet 5 of 7

04/18/03 11:19



d:\CADD\CoddOS\AII_Broword\03—269\R‘Ifsub\03—269—06.dwg AVazquez 04/18/2003 11:20:07am

Print Information:

TWD-1/4"% WOOD LAG , SPLICE
SCREWS @ 24" 0.C. MAX, REQUIRED
PANEL SPAN = 5'~6* WODD RODF TRUSS ‘\
™ OR FRAMING MEMBER
> SHALL BE PERPENDICULAR - EXISTING STRUCTURE . .,
| 4 &/\z" TO PANEL FACE SHALL BE MIN. 3,000 ; 4" @ RAWL CALK-IN @ 57 0.C
W/ 7/8" MIN, EMB. IN CONC.

y N P.S.1 CONC.
y .

] ' 2" x 2"-x 1/B" MIN. - 5/8"
USE 3rd ANCHOR / / ‘ BAY WINDOW A\ 9 % 5% % 178" MAX. CONT. MAX- EXISTING STRUCTURE BTN J
@ 24 D.L MAX. - STUCLD FINISH OR _— A ALUM. ANGLE {6063-T6) W/ Vz|H8s|=z
FOR SPANS » 5'-62} | PLwooosore : N.TS. : 1/4"% THRU BOLT TO HEADER Zo|Ragn
' : 12" 0.C. : : -0 T
~ /_} @ STORM PANE 1/4-20 STUD @ 6-1/2" O.C. - E ‘8‘ é s
SRR —SA% o8 MAX. 174" MAX. < Jim N 174" MAX. W/ ALUM. WASHERED WINGNUT w |29 E (<
T 47 x.1/87 CONT. ALUM. I | D 2" x 5" x 1/8” ALUM. PLATE f e : wy| g8 gV
TUBE {6063-T6) — = | : [6063-T6) INSIDE EACH SIDE. ) : : F>| 86812
T —-Z - FASTEN W/ B # 12 SMS OR < / b L) g © g ||w
i Il L Access HoLE 5 3/16"® POP RIVETS EACH | i g —o|3 . 2g
#14 SMS x 3/6" @ 4 B0 L ERy (TP} X SIDEAS SHOWN @17 0.C. . 1 i - gn. 58 2|
" o.C. | = L . ;
12" oc [ ; "y HEADER—/ : z vinl o E ¥
2 @ v
“U” HEADER OR 2" x 2" ’ I I 5 e 88 S
] ] z g
SEA ANGLE W/ STUDS i g Lo R B
® 6-1/2" 0.C. MAY BE I g [ 3 - z| 529N
SUBSTITUTED FOR : ! z STORM PANEL | o FHEP g
"U" HEADER SHOW [ 3 | g N— 1/4"® RAWL CALK-IN @ olug XS |E
] o < i < 6" 0.C. W/ 7/B" MIN. EMB. - -z 2V §
z o 2" x 2" x .04 CONT, IN CONC. OR HOLLOW BLOCK. wl B L Wim
' z ' ; v 2&ie
| STORM PANEL = R 1" x 4" | b4 BENT PLATE 12 GAGE MolE8Xlal
I | ALUM. TUBE 5 g STEEL ASTM ALL6 Sz|8 "% °
iy % 1 GRADE C LEIEBE e
z.J_ . NS | B ﬁ E £
. SPLICE DETAIL FOR BAY ) ! . PLAN VIEW i % ﬁ g
CONNECTION DETAIL (SECTION) WINDOW APPLICATIONS . HORIZONTAL PANEL INSTALLATION 58 § B2 g
SCALE : 3" = 1'-0" SCALE : 1-1/2" = 1'-0" Py
: ) e
" e
w ||, =8%
(MAX. DESIGN LOAD = 72 PSF) (MAX. DESIGN LOAD = 72 PSF) : (MAX. DESIGN LOAD = 72 PSF) E ;; g"io o
8 3¢
. ; . EEE R
SOFFIT CONNECTION DETAIL - ANGLE BUILD-OUT BENT PLATE CONNECTION B 33% 2
® © EH
SCALE : 3" = 7-0" _ SCALE : 3" = 1'-0" e I2 gzt ~
NOTE: .FOR BAY WINDOWS, FASTEN AT A MAX. 24" SPACING. 3 " ™
SPLICE AS SHOWN FOR CORNERS OF BAY WINDOW. E g o Z
(7] é <] <
=R =1 O
. T 5| =
' W 2 v
T % T T L T - =
[ v
: o : \? " : E @ =
Ll 1
| S | in | Bl < T
l— STORM PANEL » ; STORM PANEL  ® i Qs
! 5 [ 3 i . o I3
GLASS | = GLASS i = STORM P ANEL—~] | b
OR DOOR ~———rri | z OR DOOR | z | - ™~ j
| % : : R |
ugE AN i o 1/4"® THRU BDLT -
seATaneLe | 2 | i ANGLE T0 ANGLE | 2 PROFESTIONAL ENGIRREn
' g TSEATANGLE g CONNECTION @ I £ FL License No: p,0010983
1 z : | Z 12" 0.C. i o :
[ o I o | 5
ﬁ I X MAX. 1/8" TILE @ ! % - | 5
) < . "SEA" ANGL
| : 3 /‘FINISH MATERIAL : T :Qé-;ﬁﬂ}';fM : w
[ 1 e e N = | N | s
\% [ %
& o 3
— %\ y 3/4".PLYWOOOD P I Tz AP 1 3
o 2% 4" x 1/8" CONT _ 374" | 3/4" PLYWODD S | -
. ALUM. TUBE {6063-T6) ; i CCESS HOLE ; I Y
& N = l A 5 I F ﬁ.—
b 2" x 2" x1/8" CONT, <g x> @
- ALUM. TUBE (6063-T6) ’ <) HE
- " Pt 4
% 1/4"® RAWL CALK-IN @ 5 g.% 3/4 zle
WITH 7/8" MIN. EMB. IN CONC. OR ¥ . C
: OR HOLLOW BLOCK OR 174"® LAG 3/‘32,,‘”DTCHRU BOLT 1/4"8 RAWL CALK-IN ® : =2
— SCREW @ 12” 0.C. W/ 1=1/2" MIN. N @ € d4 §70.C W/ 1787 MIN EMB. SlEn
o D OR N Vv T APCON wO0D i 1749 S.S. WOOD LAG SCREW A CoNC. - |®|2
@ Coon oL e AR FRAMING+—— W/ 2 MIN. EMBEDMENT IN g ol 5
v ] . _ S w0OD @ 10" O.C. MAx—u > 12
< T 1/2"% THRU BOLT @ 12" O.C. » : ol s
: 1/6"% S.S. WOOD LAG SCREW L } ol 122
1/4"® RAWL CALK-IN @ 12" 0.C, W/ 2" MIN. EMBEDMENT IN 2" x 2" x 1/8" MIN. - m
WITH 7/8” MIN. EMB. IN CDNC. DR WO0OD @ 24" D.L. 2 x 57 x 178" MAX. CONT.  pRODUCT REVISED M
) HOLLOW BLOCK DR /4”@ LAG SCREW : : ALUM. ANGLE (6063-T6) Ivi . a2
Ay @ 24" 0.C. W/ 1-1/2" MIN. EMB. IN WODD 1Y 2" x 2" x /8" 8s complying with the Florida hF
OR 1/4"% ITW TAPCON @ B~ 0.C. WITH : x ALUM. ANGLE v ; Buiding Code i
1-1/4" MIN. EMB. IN CONC. OR HOLLDW BLOCK PLYWOOD OR Acceptance No 0% - 0 ¢ o H
2" x 2" x 1/8" CONT. ALUM, ANGLE 6063-T6 : ‘ Expiration Date O 7 3 ® 04/18/2003
(MAX. DESIGN LOAD = 72 PSF) (MAX. DESIGN LOAD = 72 PSF) (MAX. DESIGN LOAD =+ 72 PSF) B)f [[¢ Aoritan) . .NOTED AV
: Miami Da [desngn byj{che:ked by]
Division o8 VK
"PASS THRU" DETAIL (IN CONGRETE) "PASS THRU" DETAIL (IN WOOD) @ ANGLE BUILD-OUT PR
@ SCALE : 3" = 1'-0" @ SCALE : 3" = 1'-0" SCALE 3" = 1o~ ’ 03-269
sheet 6 of 7

04/18/03 11:20



-J:\CADD\CaddO3\AIl_Broward\O3——259\R1—5ub\03—259—07.dwg AVazquez 04/18/2003 11:22:47am

Print Informotion:

.5. .

\‘EX‘ST'NG C.BS 58 ALT. LEG DIRECTION : ~ :
A \f : THREE-1/4"® THRU BOLTS .
< : i
v 1 2" % 3" x 1/4" x 0'-8" ‘ ; g MAX NON-STRUCTURAL FINISH
: 6063-T6 ALUM. ANGLE OR ) 7 MATERIAL (BRICK OR WDDD

a

:b TwO0-2" x 3" x /8" x 0°-8" BAMDING)

6063-T6 ALUM, ANGLES )
\ ' ALUM. BEAM (SEE BEAM FASTENER, SEE ANCHOR SCHEDULE. .
7
E-VZ" MIN

: L SCHEDULE BELOW FOR : ] | REFERENCE CONNECTION *TYPE 2 ‘ . ‘a
BEAM DESCRIPTION & v 4
: MAX. HORIZONTAL ‘SPANS) < l ; . :
v ' o ‘ == ‘
T 1/4" DR 3/4" MAX. GAP R %_]’1/2'/— h" HEADER 1/4" OR 3/4" MAX. GAP
: SEE STORM PANEL <, SEE STORM PANEL -
: ) - SCHED. BASEO ON GAP A SCHED. BASED DN GAP R [ | T
/ | AT TOP DF PANEL. : AT TOP OF PANEL. :
= #12 SMS I @ _
‘ = @ 12° 0.C.] : . L
: | . PANEL MAY BE MDUNTEJ/L‘
9 B | ' _ AT FACE OF OPENING
- STORM | : ] :
Y : PANEL R : 1/4"-20 STUD & WINGNUT,
; i PANEL TO ANGLE CONNECTIO
- .. | . I STORM . @ 6-1/2"0.C.
. . : . PANEL :
p— 3 , 2" x 2" % 093" MIN. -
. B 2" x 5" x 093" MAX.
THREE 5/16"® CALK-IN ANCHORS STUDDED ANGL

@ 3-1/8" D.C. W/ 1 MIN, EMBED. A . A |-
IN CONC. OR HOLLDOW BLOCK w/ .

3-3/4" MIN. EDGE DIST. USE TwWO

ANCHORS FOR 2" x 5" x 1/8" BEAMS

1/4"® RAWL CALK-IN @ 5" 0.C. vl
W/ 7/8" MIN. EMBED. IN CONC. ~—
OR HOLLOW BLOCK OR 1/4"@ ITW wv_
TAPCON @ 4" D.C. W/ 1-1/4" MIN. NI
EMBEDMENT. iIN CONC. OR HOLLOW -
BLOCK « B

8'-6"
0]

—— STORM
PANEL

MAX. PANEL
LENGTH

A

EE

ENG

MAX. PANEL LENGTH (L)
(SEE STORM PANEL SCHEDULE}

I
¢

MAX. PANEL LENGTH = 8'-2

S
R
1260 N, UNIVERSITY DRIVE, SUITE 180 - FORT LAUDERDALE, FL 33322
TEL: (954) 382-2800 « FAX: (954) 382-2989 ~ FLORIDA COA #3205
WEBSITE: WWW.KNEZEVICH.COM = E-MAIL: KA@KNEZEVICH.COM

[COPYRIGHT @ 2003 KNEZEVICH & ASSOCIATES, INC

KNEZEVICH
CONSULTING

(MAX. DESIGN LOAD = 72 PSF) ) (MAX. DESIGN LOAD = = 72 P.5.F) (MAX. DESIGN LOAD = 72 PSF)

STORM PANEL SUPPORT BEAM | @ WALL MOUNT ® TRAP MOUNT

® SCALE: 3" = 1-D" SCALE: 3" =1-0" SCALE : 3" = 1-0"

1-800-HURRICANE

f HURRICANEEDC D)

450 West McNab Road
Ft. Lauderdale, FL. 33309

THREE 5/16"¢® CALK~IN ANCHDRS
@ 3-1/8" O.C. W/ 1 MIN. EMBED.
IN CONC. OR HOLLOW BLOCK W/
3-3/4" MIN, EDGE DIST. USE TwO "
ANCHORS FOR 2" x 5"'x 1/8" BEAMS

)
-{

AuBROWARD

SOUTHERN METAL PRODUCTS, LLC - D.B.A.

]
)
{

<

t=— STORM
@ PANEL
’— #12 SMS

[Tw U @ 12" 0.C.

20 GA. STEEL STORM PANEL

1/4°-20 STUD & WINGNUT, i
PANEL TO ANGLE CONNELTION . 6
@ 6-1/2" D.C. ‘

A

|
[
|
[
[
"SEA" ANGLE :
I
!
[
|
[

MAX. PANEL LENGTH = 8'-2"

[=—— STORM
PANEL

ALUM. BEAM (SEE BEAM 7 =
SCHEDULE BELOW FOR N
BEAM DESCRIPTION & :

- STORM l |
MAX. HORIZONTAL SPANS) o | ]
[
| ]

PANEL

MAX. PANEL

TF

LENGTH = 8'-6"

1-1/4" MIN. 2% % 3" x 1/4" x 0'-8"
6063-T6 ALUM. ANGLE OR
TWD-2" x 3" x 1/8" x D'~B"
6063-T6 ALUM. ANGLES

MAX. PANEL LENGTH {L)

(SEE STORM PANEL SCHEDULE)

2-1/74" MAX| 2" x 3" x1/B" ’
' /" ALUM. ANGLE T ar T

-
—i

1/4"® RAWL CALK-IN
@ 7" 0.C. W/ MIN. 7/8" ) THREE~1/4"® THRU BOLTS
EMBEDMENT IN CONCRETE < - .
AND 3" EDGE DISTANCE /\, ALT.LEG DIRECTION :

I
' | FASTENER, SEE ANCHOR 1/4"=20 STUD & WING NUT
_/ P n ?g:ﬁgg#ﬁw*ﬁsggﬁfﬁ PANEL TO "SEA" ANGLE . -
EXISTING C.B.S. BEAM SCHEDULE \ CONNECTION @ 6-1/2" D.C.

description

' “SEA" ANGLE -
PANEL| BEAM 4" MAX,

"SEA" ANGLE
DESCRIPTION! ‘s AN | SPAN

NON-STRUCTURAL FINISH

MATERIAL [BRICK OR WOOD
2" x 5" 50" | 9'-3" © BANDING) -

Tw = .125"

Tf=.125" | 8-2"|7~1"
2" x 9" 5-0" |15'-7" ANGLE TO WALL DETAIL " PANEL TO ANGLE DETAIL

Tw =.072"
T?: .223" 8'-2" 113'-4" as complying with the Fiorida
Buiding Code

(MAX. DESIGN LOAD = = 72 P.5.F.) : 22.0C
(MAX. DESIGN LDAD = 72 PSF) (MAX. DESIGN LOAD = 72 PSF) ' g“eptf-“celm%og [dat OL/‘IB/ZOOB]
Xpirgtion
TRAP MOUNT ® STORM PANEL SUPPORT BEAM © WALL MOUNT " T Y
@ SCALE: 3" =1-0" Miami Dade Bfoduct Control

. ) Division . drawing no.
NOTE: THIS DETAIL MAY BE USED AT
' 03-269

TOP OR BOTTOM DOF PANEL.
sheet 7 of 7

revisions

by

PRODUCT REVISED

date
0 06/18/030LBIPREVIOUSLY DWG No. 98-1k8

SCALE : 3" = 1'-0" SCALE : 3" = 1-0"

design by |[checked by
oLB VJK

04/18/03 11:22



